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çöìëûÞÝþ öîDœ þ™%!œŸ ¢yîéô£zªöìþ™Qîûû þ~:y!›öì̃ Ÿ é̃ôé~îû ²ÌöìÙÀîû vþz_îû¢£ îÄy…Äy
1. (C) ö†yîîû †Äyöì¢îû ²Ì•y˜ vþzþ™y”y˜ !›öìí˜Ð £z£yöì“þ CO2 ~î‚

ßþºÒ þ™!îû›yöì’ £y£zöìvÈþyöì‹˜ ¢yœšþy£zvþ (H2S) vþzþ™!ßþi“þ íyöì„þÐ
2. (A) òLetters from a Father to Daughter ó î£z!Ýþ

!œöì…!Šéöìœ˜– ‹ç£îûœyœ ö˜£îû&Ð
@ùÌsþi!Ýþ ‹ç£îûœyœ ö˜£îû& “þyîû „þ˜Äy £z!¨îûy !²Ìëû”!ŸÅ̃ #îû vþzöìjöìŸÄ
öœ…y !‰þ!àþîû ¢‚„þœ˜Ð î£z!Ýþ ²Ì„þy!Ÿ“þ £öìëû!Šéœ 1929 !…Ê.
Allahabad Law Journal Press öíöì„þÐ

3. (D) xy!šÊþ„þyöì„þ £zvþzöìîûyþ™ öíöì„þ þ™,í„þ „þöìîûöìŠééôôôé ¦)þ›•Ä¢y†îûÐ
¦)þ›•Ä¢y†öìîû xî!ßþi“þ ¢‚„þ#’Å“þ› !‹îÊyÎÝþyîû ²Ì’yœ# ößþ™˜ ~î‚
›îûöìEþyöì„þ þ™,í„þ „þöìîûöìŠéÐ ~!Ýþ xyÝþœy!rÝþ„þ ~î‚ ¦)þ›•Ä¢y†îûöì„þ
ë%_« „þöìîûöìŠé ~î‚ !‹îÊyÎÝþyîû ²Ì’yœ# £zvþzöìîûyöìþ™îû ößþ™˜ ~î‚
xy!šÊþ„þyîû ›îûöìEþyöì„þ þ™,í„þ „þöìîûöìŠéÐ

4. (B) îûy!Ÿëûyöì“þ x %̃!Ûþ“þ 2018 þ!šþšþy !îÙ»„þyþ™ !‹öì“þöìŠé šÊþyªÐ
šþy£z̃ yœ ö…œy!Ýþ ›öìßþñy Ÿ£öìîûîû œ%‹!˜!„þ öÞÝþ!vþëûyöì› x %̃!Ûþ“þ
£öìëû!ŠéœÐ !îþ™îû#“þ ”öìœ !Šéœ öe«yöìëû!ŸëûyÐ ›Äy˜ xšþ ”Ä ›Äy‰þ
£öìëû!Šöìéœ˜ xÄyöìrÝþy!˜ ö@ùÌ‹›Äy˜ SšÊþyªVÐ

5. (C) î“Åþ›y˜ ¦þyîûöì“þîû î,£_› þ™yî!œ„þ ö¢Qîû îy!’!‹Ä„þ îÄy‚„þ £œ
¦þyîû“þ#ëû öÞÝþÝþ îÄy‚„þÐ þ™)öìîÅ ~îû ˜y› !Šéœ £zöìÁ™!îûëûyœ îÄy‚„þÐ
1955 ¢yöìœ þ™!îûî“Åþ#“þ £öìëû ¦þyîû“þ#ëû öÞÝþÝþ îÄy‚„þ ˜y› £ëûÐ
~!Ýþ ~„þ!Ýþ ¦þyîû“þ#ëû îý‹y!“þ„þ þ™yî!œ„þ ö¢Qîû îÄy‚„þ ~î‚
xy!íÅ„þ ö¢îy ¢‚!î!•îkþ ¢‚ßþiy ëyîû ¢”îû ”šþ“þîû ›£yîûyöìÜTÉîû
›%Áºy£zÐ 2019 ¢yöìœîû !îöìÙ»îû î,£_› „þöìþ™ÅyöìîûŸ˜=!œîû šþîû‰%þ˜
ö@Õyîyœ þ500 !Ýþîû “þy!œ„þyëû ~¢ !î xy£z 236 “þ› ßþiyöì̃
îûöìëûöìŠéÐþ

6. (B) •!îû– î“Åþ›yöì̃  ö›öìëûîû îëû¢ = x
     •!îû– îyîyîû îëû¢ = 4x

²ÌÙÀy %̃¢yöìîû–  (4x + 5) = 3(x × 5)
or, 4x + 5 = 3x + 15 ∴  x = 10

!˜öì’Åëû vþz_îû ( )4 10 5 5 50 2.510 5 5 20
× + +

= = =+ +
7. (D) •!îû– xBþ ”%!Ýþ £œ = x, y (x < y)

x × y = 8 → (I)
xyîyîû– (10x + y) + 18 = (10y + x)
or, 9(y – x) = 18
y – x = 2 → (II)
¢%“þîûy‚– (I) þç (II) “%þœ˜y „þöìîû þ™y£z

8 y 2y = −  or, y2 – 2y – 8 = 0

or, y2 – (4 – 2)y – 8 = 0
or, (y – 4) (y + 2) = 0 ∴  y = 4 ( )
“þy£öìœ– x = y – 2 = 2
∴  !˜öì’Åëû ¢‚…Äy!Ýþ £œ = (10 × 2) + 4 = 24

8. (D) 0.002 0.5 0.0011000 10× =

9. (C) 52 30x : y 12 :5100 100× × =  or, 
52x 12
30y 5=

x : y = 18 : 13
5

∴  | x = 18 × 10 = 180
þ ²ÌÙÀy %̃¢yöìîû– | y = 13 × 10 = 130

5 ~„þ„þ = 50 |
1 ~„þ„þ ⇒ 10 |
∴  (2x + y) ⇒ (2 × 180) + 130
= 360 + 130  = 490

10. (A) •!îû– ö¢y›y = 3x | 3x + 6 + x = 54

þ î!˜ 13x x3= × = | 4x = 48
þ x!›“þ = (3x + 6) | x = 12
þ ö¢y›yîû î“Åþ›y˜ îëû¢ = 3 × 12 = 36 îŠéîû

î!˜îû ‹öì§Ãîû ¢›ëû ö¢y›yîû îëû¢ !Šéœ
= 36– 12 = 24 þîŠéîûÐ

11. (C) A : B = 2 : 3  × 5   = 10 : 15
B : C = 5 : 3  × 3   = 15 : 9
A : B : C
10 :15: 9

15B 136 6034∴ ⇒ × =

12. (C) 3 ‹˜ ›!£œy = 2 ‹˜ þ™%îû&¡ì

21 ‹˜ ›!£œy 2 21 143= × =  ‹˜ þ™%îû&¡ì

m1 d1 t1 = m2 d2 t2
15 × 21 × 8 = 14 × x × 6

15 21 8x 3014 6
× ×= =×

13. (A) !˜öì’Åëû ¢›ëû 100 18 100
30 5 10
×= =× þ= 10 ö¢öì„þuþ

14. (B) B ~îû ¢›ëû œy†öìî 12 8 12 8
12 8 4
× ×= =− þ= 24 !”˜

15. (C) •!îû– xBþ ”%!Ýþ £œ x ç y (ë…˜ x>y)

x + y = 12 12 6 18x 92 2
+= = =

x – y = 6 12 6 6y 32 2
−= = =

∴  ¢‚…Äy!Ýþ £œ 93⇒

16. (B) 2  9, 6, 4, 10, 8
 2  9, 3, 2, 5, 4 
   3 9, 3, 1, 5, 2
       3, 1, 1, 5, 2 
œ.¢y.=. = 2×2×3×3×5×2 = 360

360 ö¢öì„þuþ 360 660= = þ!›!˜Ýþ

~„þ¢yöìí îy‹öìî 60
6= = 10 þîyîûÐ

17. (B) þ™%îûyöì̃ y †vþü = 120 – (12 × 5) = 120 – 60 = 60
˜“%þ˜ †vþü = 60 + 5 = 65

18. (C) 2 r 1000 440π × =

440 7 142r 0.141000 22 100
×= = =×

19. (A)

20. (A)
7 : 49  : : 17 : ? 
7×7 17×7

      Ans : 119

21. (B)
22. (B)

23. (C) A B
5 š%þÝþ

6 š%þÝþ

4 š%þÝþ

24. * !þ™¢“%þöì“þy ¦þy£z
25. (D) ¢#“þy > œyî’Ä > ßþº²Ày > £!îû > î’Åy

26. (C)

  13      5      11     12       6 
  M      E       K       L       F
13-4   5-4   11-4  12-4   6-4

   9       1        7       8       2 

   12      12      12     10      11 
    L       L        L        J       K
12-4   12-4   12-4  10-4   11-4

   8         8        8        6        7 

So, 

  9       7      8      5      4 
  I       G     H      E     D
9-4   7-4   8-4   5-4   4-4

 5       3       4      1      0 

27. (D)

83

?
216

63
64

43

8
23

8 = 5123  

28. (B) 3 33 3 3 3
2 10 30 ? 130 222

1 1 6 62 2 3 3 4 4 5 5+ ++ + + +

3? 4 4 64 4 68∴ = + = + =
29. (B) Two, (M R K)

30. (D)    84   ×   13   = 8

(3+4) – (1+3) = 8 
   37   ×   13   = 6 

(3+7) – (1+3) = 6 
   56   ×   22 

(5+6) – (2+2) = 7

31. (A)
32. (A) xyhsþ‹Åy!“þ„þ ×› ¢‚ßþiyîû ¢”îû ”šþ“þîû ö‹öì̃ ¦þyöì“þ xî!ßþi“þÐ

~!Ýþ 1919 ¢yöìœîû 29 xöìQyîîû ×!›„þöì”îû ‹#î˜ëyeyëû
vþz§¬!“þîû vþzöìjöìŸÄ †àþ˜ „þîûy £öìëû!ŠéœÐ î“Åþ›yöì̃  ~!Ýþîû !vþöìîûQîû
ö‹˜yöìîûœ ö† îûy£zvþyîûÐ

33. (D) ¦þyîûöì“þîû xîû’Ä †öìî¡ì’yöì„þw!Ýþ ö”îûy”%öì̃  xî!ßþi“þÐ
~£z †öìî¡ì’yöì„þw!Ýþ 1906 ¢yöìœ †!àþ“þÐ
xîßþiy˜éôé vþz_öìîû „%þœyëû†vþü ~î‚ ”!Çþöì’ ¦þyîûöì“þîû !›!œÝþy!îû
xÄy„þyöìvþ!› xî!ßþi“þÐ þ™!Øþ›!”„þ öíöì„þ Ýþ˜¢ ˜”# ²Ìîy!£“þ
£öìëûöìŠéÐ

34. (D) †îû&îû ”%•
Sþ™%!ÜT†“þ ›)œÄ ²Ì!“þ 100 gmV
!¦þÝþy!›˜
A → 46 μg

B1 → 0.04 mg
B2 → 0.183 mg
B12 → 0.45 μg
D → 0.05 μg

35. (C) „%þOîûy!˜ ö”î# ¦þyîûöì“þîû ¦þyöìîûy_œ˜ ö…öìœyëûyvþüÐ
36. (B) ¦þyîûöì“þîû xyëû„þîû £œ ²Ì“þÄÇþ ç ²Ì†!“þŸ#œ •îûöì˜îûÐ
37. (A) ¦þyîûöì“þîû vþzþ™„)þœöìîû…yîû ÷”‡ÄÅ £œ 7516.6 km.

m#þ™¢›)£ !”öìëû ¦þyîûöì“þîû vþzþ™„)þœöìîû…yëû ö›yÝþ ÷”‡ÅÄ 7516.6
km ~î‚ m#þ™¢›)£ îy” !”öìëû ö›yÝþ ÷”‡ÅÄ 6100 km.

38. (A) & (C)
!„þŠ%é ˜y£zöìÝþÆyöì‹˜ !ßþi!“þ„þyîû# ‹#î éôôôé

(i) !ŸÁº#öì†ye#ëû vþz!qöì”îû ›)öìœÄîû xî%Åöì” î¢îy¢„þyîû# îÄy„þöìÝþ!îûëûyéôôôé
îûy£zöì‹y!îëûy›Ð

(ii) ßþ º y•#˜¦þyöìî ›y! Ýþö ì“þ  î¢îy¢„þyî û#  îÄy„þöì Ýþ!î ûë û y é ôôô é
xÄyöì‹yöìÝþyîÄy„þÝþîû– „Ïþ¢!ÝþÆ!vþëûy›Ð

39. (A) ö„Ïþyöìîûy²ÕyÞÝþ vþz!q”öì„þyöìŸ vþzþ™!ßþi“þ íyöì„þÐ ö„Ïþyöìîûy²ÕyöìÞÝþîû ›öì•Ä
ö„Ïþyöìîûy!šþœ ˜y›„þ îûO„þ þ™”yíÅ íyöì„þ– ëy ¢yöìœy„þ¢‚öìÙÕöì¡ì
¢y£yëÄ „þöìîûÐ

40. (A) þ™,!íî#îû ÖÜñ“þ› ›îû&¦)þ!› £œéôôôé xyÝþy„þy›y ›îû&¦)þ!›Ð
!Ýþ xÄyrÝþy„Åþ!Ýþ„þyîû ÖÜñ“þ› Ÿ#“þœ ›îû&¦)þ!›Ð ~…yöì̃  0.04 £z!Mþé
î,!ÜTþ™y“þ £ëûÐ ö›yÝþ xyëû“þ˜ 140,000 km2Ð

41. (D)
42. (B) xy£z‹Äy„þ !˜vþzÝþöì˜îû ²Ìí› †!“þîû ¢)e!Ýþ ‹yvþÄ“þyîû xy£z̃ /

‹vþü“þyîû ›)œ˜#!“þ ˜yöì› þ™!îû!‰þ“þÐ ö„þyöì̃ y !ßþiîû îy †!“þŸ#œ
îlßþîû xîßþiyîû þ™!îûî“Åþ˜ „þîûy£z £œ ‹yvþÄÐ

43. (B) ‹y!œëûy˜çëûyœyîyöì†îû £“þÄy„þy[þ ‡öìÝþ!Šéœ 13 April, 1919Ð
‹y!œëûy˜çëûyœyîyöì†îû £“þÄy„þyöì[þîû “þ”öìhsþîû ‹˜Ä £yrÝþyîû
„þ!›Ÿ˜ †!àþ“þ £öìëû!ŠéœÐ vþyëûyöìîûîû !˜öì”ÅöìŸ ~£z £“þÄy„þy[þ!Ýþ
¢‚†!àþ“þ £öìëû!ŠéœÐ

44. (C) ¦þyîûöì“þîû îûyÜTÉþ™!“þ !˜îÅy!‰þ“þ £˜ ~„þ!Ýþ !˜îÅy‰þ„þ ¢‚ßþiy myîûy ëy
†!àþ“þ £ëû !˜îÅy!‰þ“þ ¢y‚¢” ç !˜îÅy!‰þ“þ !î•yëû„þöì”îû myîûyÐ

45. (D) î#îûîöìœîû xy¢œ ˜y› !Šéœéôôôé ›öì£Ÿ ”y¢Ð
î#îûîœ !Šéöìœ˜ xy„þîöìîûîû îûy‹c„þyöìœ !£¨% îÊyáþ’ þ™îûy›ŸÅ”y“þy
ç ö¢˜yîy!£˜#îû ›%…Ä ö¢˜yþ™!“þÐ î#îûîœ ~„þ›ye !£¨% !ë!˜
xy„þîöìîûîû ”#˜éôé£zéôé£zœy!£ •›Å›“þ @ùÌ£’ „þöìîû!Šéöìœ˜Ð

46. (C)
47. (C) ¢‚¢öì”îû „þyëÅyî!œîû vþzþ™îû !˜¦Åþîû „þöìîûÐ
48. (C) ¦þyîû“þ “þyîû !‹!vþ!þ™éôé~îû ¢îÅy!•„þ x‚Ÿ œy¦þ „þöìîû ö¢îyöìÇþe öíöì„þÐ
49. (D) ²Ìy„,þ!“þ„þ !˜îÅy‰þöì̃ îû xy£z̃ !Ýþ ‰þyœÅ¢ vþyîûvþz£z̃  1859 ¢yöìœ
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²Ì„þyŸ „þöìîû!Šéöìœ˜Ð
50. (A)
51. (D) îûy‹y îûy›öì›y£˜ îûyëû 1772 !…Ê. 22 ö› ý†œ# ö‹œyîû îûy•y˜†îû

@ùÌyöì› ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜Ð !“þ!˜ ò¦þyîûöì“þîû ˜î‹y†îûöì’îû
Ö„þ“þyîûyó ˜yöì› þ™!îû!‰þ“þ !Šéöìœ˜Ð þ™îûî“Åþ# ›%‡œ¢ÁËyÝþ !m“þ#ëû
xy„þîîû Ÿy£ îûy›öì›y£˜ îûyëûöì„þ òîûy‹yó vþzþ™y!•öì“þ ¦)þ!¡ì“þ
„þöìîû!Šéöìœ˜Ð !“þ!˜ ¢‚îy”éôéö„þï›%”# ç !›îûyÝþéôévþzœéôéxy„þîîû ˜y›„þ
¢‚îy”þ™e ”%!Ýþ ²Ì„þyŸ „þöìîû!Šéöìœ˜Ð !“þ!˜ 27 ö¢öì²WzÁºîû 1833
!…Ê­ !îÞÝþœéôé~ ö”£“þÄy† „þöìîû̃ Ð

52. (D) ”!Çþ’ ~Ÿ#ëû xyMþé!œ„þ ¢£öìëy!†“þy ¢‚ßþiy (SAARC) éôé~îû
¢”¢Ä îûyÜTÉ=!œ £œéôôôé xyšþ†y!˜hßþy˜– þ™y!„þhßþy˜– îy‚œyöì”Ÿ–
¦)þÝþy˜– ö˜þ™yœ– ¦þyîû“þ– ›yœm#þ™ ç ×#œBþyÐ ¢%“þîûy‚ ›yëûy˜›yîû
ö”Ÿ!Ýþ ¢y„Åþ ¢‚ßþiyîû xhsþ¦Å%þ_« ˜ëûÐ

53. (C) 2  2, 4, 6, 8, 10, 12
 2  1, 2, 3, 4, 5, 6 
   3 1, 1, 3, 2, 5, 3
      1, 1, 1, 2, 5, 1 

þ œ.¢y.=. = 2×2×3×2×5 = 120

120 ö¢öì„þuþ 120 260= = !›!˜Ýþ

  30 !›!˜öìÝþ ~„þ¢yöìí îy‹öìî 30 1 (15 1)2= + = + = 16îyîûÐ

54. (B) •!îû– î†ÅöìÇþöìeîû îyý = 10x ~„þ„þ

“þy£öìœ– xyëû“þöìÇþöìeîû ÷”‡ÅÄ 15010x 15x100= × = þ~„þ„þ

xyëû“þöìÇþöìeîû ²Ìßþi 9010x 9x100= × = ~„þ„þ

²ÌÙÀy %̃¢yöìîû– (15x × 9x) – (10x)2 = 35
or, 135x2 – 100 x2  = 35
or, 35x2 = 35 ∴  x = 1
xyëû“þöìÇþöìeîû ÷”‡ÅÄ = 15 × 1 = 15 ö¢!›.
xyëû“þöìÇþöìeîû ²Ìßþi = 9 × 1 = 9 ö¢!›.
xyëû“þöìÇþöìeîû éöÇþešþœ = (15 × 9) = 135 î.ö¢!›.

55. (A) †vþü †!“þöìî† 2 24 30 2 24 30 80
24 30 54 3
× × × ×= = =
+

= 26.6 !„þ!›/‡^ùÝþyÐ
56. (D) ö›yÝþ ç‹˜ „þ›öìî = (45 – 25) = 20 þö„þ!‹

ç‹öì˜îû †vþü „þ›öìî 20 4
75 15= = = 0.266 ≈ 0.27 ö„þ!‹

∴  ˜“%þ˜ †vþü £öìî = (47 – 0.27) = 46.73 ö„þ!‹Ð
57. (B) m1d1 = m2d2

550 × 28 = (550 + 150) × x
550 × 28 = 700 × x

îy– 550 28x 22700
×= =

58. (C) 1 , 8,  9,  64 ,  25 ,  ? ,  49
12 32 52

72

23 43

? = (6)3 = 216
59. (B)
60. (D) M N Q P O
61. (B) 8 ÷ 2 + 6 × 3 – 5 = 4 + 18 – 5 = 17
62. (B) 9    20    33    48    ?    84    105

+11 +13 +15 +17 +19 +21

? 48 17 65∴ = + =
63. (A) NATO- þ~£z ¢‚ßþiy!Ýþ 4 ~!²Ìœ 1949 ßþiyþ™˜ „þîûy £öìëû!ŠéœÐ

î“Åþ›yöì̃  29!Ýþ ö”Ÿ ~îû ¢yöìí ë%_«Ð ~!Ýþîû ¢”îû ”šþ“þîû
öîœ!‹ëûyöì›îû îÊyöì¢œ¢éôé~ xî!ßþi“þÐ

64. (A) e«#vþüyöìÇþöìe x¢y›y˜Ä ²Ì!ŸÇþöì„þîû ¦)þ!›„þy þ™yœ˜„þyîû# îÄ!_«cöì„þ
¦þyîû“þ ¢îû„þyîû ~£z öoy˜y‰þyëÅ þ™%îûßþñyîû!Ýþ ²Ì”y˜ „þöìîû íyöì„þ˜Ð
þ™%îûßþñyîû!Ýþ ¦þyîûöì“þîû ›£y„þyîÄ ›£y¦þyîûöì“þîû ~„þ!Ýþ !îöìŸ¡ì ‰þ!îûe
=îû&/²Ì!ŸÇþ„þ öoy’y‰þyöìëÅîû ˜yöì› þ™!îû!‰þ“þÐ

65. (A) ›y“þy!“þœy ‹œ!î”%Äê ²Ì„þÒ!Ýþ vþz_îû ²Ìöì”öìŸîû œ!œ“þþ™%îû ö‹œyëû
xî!ßþi“þÐ ~!Ýþ 1958 ¢yöìœ öîöì“þyëûy ˜”#îû vþzþ™îû ÷“þîû# £ëûÐ
~£z î¤y•!Ýþîû þ™)îÅy‚Ÿ  35 !›. vþz‰%þÐ ö›yÝþ xyëû“þ˜ 20 km2Ð
ö”ç‡îû öíöì„þ 93km ”)öìîû xî!ßþi“þÐ

66. (B) !ŸÖöì”îû !˜…îû‰þyëû ç îy•Ä“þy›)œ„þ !ŸÇþyîû x!•„þyîû (RTE)
xy£z̃  2009éôé~îû “þšþ!¢œ x %̃¢yöìîû ²Ìyí!›„þ ç vþzF‰þ ²Ìyí!›„þ
!î”Äyœöìëûîû ‹˜Ä Šéyeéôé!ŸÇþ„þ x %̃þ™y“þ (PTR) ²Ì”y˜ „þîûy
£öìëûöìŠéÐ vþzF‰þ ²Ìyí!›„þ hßþöìîû ~!Ýþ 35 : 1 £çëûy vþz!‰þ“þÐ

67. (D)
68. (B) 1761þ¢yöìœîû þ™y!˜þ™öìíîû “,þ“þ#ëû ë%öìkþîû ¢›ëû öþ™öìŸyëûy !Šéöìœ˜éôé

îyœy!‹ îy!‹îûyçÐ
þ™y!˜þ™öìíîû “,þ“þ#ëû ë%kþ!Ýþ £öìëû!Šéœ ›yîûyàþy öþ™öìŸyëûy îyœy!‹
îy!‹îûyç ç xy£öì›” Ÿy£ xyî”yœ#îû ›öì•Ä 14 ‹y %̃ëûy!îû 1761
!…Ê­Ð ~£z ë%öìkþ ›yîûyàþyöì”îû ›%…Ä ö¢˜y²Ì•y˜ !Šéöìœ˜ ¢”y!Ÿî
îûyçÐ þ™yOyöìîîû vþzþ™îû ›yîûyàþy xy!•þ™“þÄ !îhßþyîûöì„þ ö„þw „þöìîû£z
›yîûyàþy ç xyšþ†y˜öì”îû ›öì•Ä ~£z ë%kþ!Ýþ ¢‚†!àþ“þ £öìëû!ŠéœÐ

69. (C) ‹œ”yþ™yvþüy x¦þëûyîû’Ä!Ýþ þ™!Øþ›îìöìD xî!ßþi“þÐ
!£›yœöìëûîû þ™)îÅ þ™y”öì”öìŸ xî!ßþi“þéôôôé ~!Ýþ ~„þŸ,D †[þyîû– £y!“þ–
öîDœ Ýþy£z†yîû– î˜Ä Ÿ)„þîûéôé~îû ‹˜Ä !î…Äy“þÐ
ö›yÝþ xyëû“þ˜ 141 î†Å!„þ!›Ð
~!Ýþ ~„þ!Ýþ î,!Ü T xîû’Ä– ö›yÝþ vþ zF‰þ“þy 61 m, ~!Ýþ
xyœþ™%îû”%ëûyîûéôé~ xî!ßþi“þ– ~!Ýþ ö“þy¢Åy ˜”#îû vþzþ™îû xî!ßþi“þÐ

70. (C) x!“þöìî=˜# îû!ÙÂ cöì„þîû ö“þœöì„þ !¦þÝþy!›˜ ò!vþóéôéö“þ îûþ™yhsþîû
„þöìîû ëy îÄ!_«îû ßþºyöìßþiÄîû vþz§¬!“þ ‡ÝþyëûÐ

71. (C) îy!’!‹Ä„þ ¢yîû ÷“þ!îûöì“þ ˜y£zöìÝþÆyöì‹˜– šþ¢šþîûy¢ ç þ™Ýþy!Ÿëûy›
¢îöì‰þöìëû öî!Ÿ =îû&cþ™)’Å vþzþ™y”y˜Ð

72. (B)
73. (A) œuþöì˜îû ÞÝþ„þ ›yöì„ÅþöìÝþîû ¢)‰þ„þ!Ýþ £œ š%þÝþ!¢ (FTSE)
74. (C) 0.128 !›. ~îû ‹˜Ä ¢›ëû 1 ö¢öì„þuþ

25 !›. ~îû ‹˜Ä ¢›ëû 1 25 1000
0.128

× ×

3125 195.316= = 195≈

75. (C) ö›yÝþ ö¦þyÝþyîû ⇒ x ‹˜

ö¦þyÝþ !”öìëûöìŠé 75x 100⇒ ×

÷î• ö¦þyÝþ 75 98x 100 100⇒ × ×

²ÌÙÀy %̃¢yöìîû– 75 98 75x 9261100 100 100× × × =

100 100 100x 9261 75 98 75= + × ×  ∴  x  = 16800

76. (C) ²Ìí› öÇþöìe !m“þ#ëû öÇþöìe
xy¢œ → 1 Ýþy„þy xy¢œ → 1 Ýþy„þy
ö›yÝþ → 2 Ýþy„þy ö›yÝþ → 8 Ýþy„þy
¢%” → 1 Ýþy„þy ¢%” → 7 Ýþy„þy
1 Ýþy„þy ¢%” £öì“þ 4 þîŠéîû
7 Ýþy„þy ¢%” £öì“þ = 4 × 7 = 28 îŠéîûÐ

77. (C) ö›yÝþ e«ëû›)œÄ = (9.50 × 35) + (10.50 × 30)
=  ` 647.50

!îe«ëû›)œÄ 135647 50 100⇒ ⋅ ×  = ` 874.13

!›×öì’îû !îe«ëû›)œÄ 874 13 13.44865
⋅⇒ =

≈ ` 13.5 S²ÌyëûV
78. (B) •!îû– ÷”‡ÅÄ = 6x ²Ìßþi = 5x

x 34∴ = ∴  þ™!îû¢#›y ⇒ 2 S÷”ƒ + þ²ÌƒV
= 2[ 6×34 + 5×34]
= 2 × 11 × 34 = 22 × 34 = 748 !›.

79. (A) þþ™îû#Çþyëû þ™yöìŸîû ‹˜Ä ‰þy£z ö›yÝþ ⇒  265 + 55 = 320

40% ⇒ 320 ∴  320100% 100 80040⇒ × =

80. (D)
( )
( )
100 200 x 9

35100 150 y
+

=
+

or, 
300x 9
250y 35=  ∴  

x 9 5 3
y 35 6 14

×= =×

81. (C) 72 × 96  =  6 9 2 7 
58 × 87  =  7 8 8 5 

79 × 86  =  6 8 9 7 

82. (D)

83. (A) a a a b b 
b 

aa b a b 
b 

84. (B) Y       X

Z        P

85. (D)

3 3
4

B A

C D E
xöìŸy„þ

!îöìî„þ

5
So, CE = CD + DE = 5+4 = 9

86. (C) 7
+
4
+
2

2

2

2

69

3
+
9
+
1

2

2

2

91

2
+
6
+
5

2

2

2

65

87. (A) 20
T 20=
20 1 24
T A X 201 24=
24 5 1815
X E R O 24 51815=
2 1 2 25
B A B Y 21 2 25=

88. (B) C    D    E+1

P    Q    S+1 +2

T    U    V+1 +1

J     K    L+1 +1

+1

89. (B) îyëû%›uþöìœ vþzþ™!ßþi“þ †Äy¢=!œ £œéôôôé ˜y£zöìÝþÆyöì‹˜– x!:öì‹˜–
xy†Å̃ – „þyîÅ̃ éôévþy£zéôéx:y£zvþ– !˜ëû̃ – !£!œëûy›– !›öìí˜– !e«þ™Ýþ˜
ç ¢y›y˜Ä þ™!îû›y˜ ‹œ#ëû îyÜ™Ð

90. (B) ÝþÆÄy„þ ç !šþÓþ “þyîû„þy „þyœÅ œ%£z¢ 1984 ¢yöìœîû x!œ!Á™„þ
ö†›öì¢ 100 !›Ýþyöìîû ~„þ!Ýþ ö¢y˜y– 200 !›Ýþyöìîû ~„þ!Ýþ ö¢y˜yÐ
4×100 !›Ýþyîû îûÄy!œöì“þ ~„þ!Ýþ ö¢y˜y– œˆ ‹yöìÁ™ ~„þ!Ýþ
ö¢y˜y– ö›yÝþ 4!Ýþ ö¢y˜y !‹öì“þ!Šéöìœ˜Ð

91. (A) !îû‹y¦Åþ îÄy‚„þ=!œ ¢îû„þyöìîûîû îÄy‚„þ ~î‚ ¢„þœ îy!’!‹Ä„þ
îÄy‚„þ=!œîû ²Ì•y˜ îÄy‚„þÐ ~…yöì̃  ¢y•yîû’ ›y %̃¡ì Ýþy„þy ‹›y
„þîûöì“þ þ™yöìîû̃  ˜yÐ

92. (C)
93. (B) xöìŸyöì„þîû ˜y›!Ýþ ²Ìí› þ™yçëûy ëyëû ›y!ßþñ !Ÿœy!œ!þ™ öíöì„þ

!“þ!˜ “¤þyîû !œ!þ™öì“þ òö”î˜y›!þ™ëû !²Ìëû”Ÿ#Åó ˜y›!Ýþ îÄî£yîû
„þîûöì“þ˜Ð

94. (B) xyœšþy– †y›y ç !îÝþy ~£z !“þ˜!Ýþ£z îû!ÙÂÐ xyîû övþÎÝþy £œ
~„þ!Ýþ @ùÌ#„þ î’Å/xÇþîûÐ

95. (B) xyhsþ‹Åy!“þ„þ ›%oy “þ£!îœ 1945 ¢yöìœîû 27 !vþöì¢Áºîû ßþiyþ™˜
„þîûy £öìëû!ŠéœÐ ~!Ýþîû ¢”îû ”šþ“þîû xyöì›!îû„þyîû çëûy!Ÿ‚Ýþ˜
!vþ.!¢éôéö“þ xî!ßþi“þÐ

96. (A) œ#œyî“þ# !œöì…!Šéöìœ˜éôôôé ¦þyßþñîûy‰þyëÅÐ
¦þyßþñîûy‰þyëÅ !Šéöìœ˜ ~„þ‹˜ !î…Äy“þ †!’“þKþ ç ö‹Äy!“Åþ!î”Ð
!“þ!˜ ›•Äë%öì†îû !î…Äy“þ †!’“þKþ ˜yöì› þ™!îû!‰þ“þÐ “¤þyîû îû!‰þ“þ
!î…Äy“þ ›)œ @ùÌsþi!Ýþ £œ ò!¢kþyhsþ !Ÿîû›!’óÐ ~£z ò!¢kþyhsþ !Ÿîû›!’ó
‰þyîû!Ýþ …öìuþ !î¦þ_«Ð ëíyéôé S1V œ#œyî“þ#– S2V î#‹†!’“þ–
S3V @ùÌ£†!’“þ ç S4V ö†yœy•ÄyëûÐ œ#œyî“þ# £œ †!’“þ ¢‚e«yhsþ
~„þ!Ýþ @ùÌsþiÐ @ùÌsþi!Ýþîû !î¡ìëûîlßþ !Šéœéôé ¢›‰þ“%þöìÜñy’ ¢‚e«yhsþ–
‰þ“%þ‡Åy“þ ¢›#„þîû’– ‡˜– ¢›#„þîû’ ²Ì¦,þ!“þÐ

97. (B) !˜vþz!„Ïþëûyîû !šþvþzŸ˜ ~›˜ ~„þ!Ýþ ²Ì!e«ëûy öë…yöì˜ ”%!Ýþ îy “þyîû
öî!Ÿ þ™yîû›y’!î„þ !˜vþz!„Ïþëûy¢ ~„þ îy “þöì“þy!•„þ xyœy”y
þ™yîû›y’!î„þ !˜vþz!„Ïþëûy¢ ~î‚ ¢yîxÄyöìÝþy!›„þ „þ’y †àþ˜ „þöìîûÐ

98. (D) xÄyí!œÝþ¢ š%þÝþ öîûy†!Ýþ ¢y•yîû’“þ ö…öìœyëûyvþüöì”îû £öìëû íyöì„þÐ
~!Ýþ ~„þ!Ýþ Šéey„þ ¢‚e«y›„þ öîûy†Ð

99. (D) îy“þyöì¢ Ÿöì·îû öî† †vþüþ™vþü“þy !£¢yöìî 0° ö¢!rÝþöì@ùÌöìvþ 331.5
!›/ö¢öì„þuþÐ ‡öìîûîû ßþºy¦þy!î„þ “þyþ™›yeyëû ö›yÝþy›%!Ýþ  20°
ö¢!rÝþöì@ùÌöìvþ îy“þyöì¢îû †!“þöìî† 343 !›/ö¢Ð

100. (B) îûöì„þÝþ „þy‹ „þöìîû !˜vþzÝþöì˜îû “,þ“þ#ëû ¢)e x %̃¢yöìîûÐ ò²Ì!“þ!Ýþ
„þöì›Åîû ‹˜Ä ~„þ!Ýþ ¢›y˜ ç !îþ™îû#“þ ²Ì!“þ!e«ëûy îûöìëûöìŠéóÐ


